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Rules for Bone / Tissue / Vessel Views 
 

if Vessel is LOW and Bone is LOW and VesselTree is LOW then Method is Tissue 
if Vessel is LOW and Bone is MEDIUM and VesselTree is LOW then Method is Bone 
if Vessel is LOW and Bone is HIGH and VesselTree is LOW then Method is Bone 
if Vessel is MEDIUM and Bone is LOW and VesselTree is LOW then Method is Tissue 
if Vessel is MEDIUM and Bone is MEDIUM and VesselTree is LOW then Method is Tissue 
if Vessel is MEDIUM and Bone is HIGH and VesselTree is LOW then Method is Bone 
if Vessel is HIGH and Bone is LOW and VesselTree is LOW then Method is Tissue 
if Vessel is HIGH and Bone is MEDIUM and VesselTree is LOW then Method is Tissue 
if Vessel is HIGH and Bone is HIGH and VesselTree is LOW then Method is Tissue 
if Vessel is LOW and Bone is LOW and VesselTree is MEDIUM then Method is Vessel 
if Vessel is LOW and Bone is MEDIUM and VesselTree is MEDIUM then Method is Vessel 
if Vessel is LOW and Bone is HIGH and VesselTree is MEDIUM then Method is Tissue 
if Vessel is MEDIUM and Bone is LOW and VesselTree is MEDIUM then Method is Vessel 
if Vessel is MEDIUM and Bone is MEDIUM and VesselTree is MEDIUM then Method is Vessel 
if Vessel is MEDIUM and Bone is HIGH and VesselTree is MEDIUM then Method is Vessel 
if Vessel is HIGH and Bone is LOW and VesselTree is MEDIUM then Method is Vessel 
if Vessel is HIGH and Bone is MEDIUM and VesselTree is MEDIUM then Method is Vessel 
if Vessel is HIGH and Bone is HIGH and VesselTree is MEDIUM then Method is Vessel 
if Vessel is LOW and Bone is LOW and VesselTree is HIGH then Method is Vessel 
if Vessel is LOW and Bone is MEDIUM and VesselTree is HIGH then Method is Vessel 
if Vessel is LOW and Bone is HIGH and VesselTree is HIGH then Method is Vessel 
if Vessel is MEDIUM and Bone is LOW and VesselTree is HIGH then Method is Vessel 
if Vessel is MEDIUM and Bone is MEDIUM and VesselTree is HIGH then Method is Vessel 
if Vessel is MEDIUM and Bone is HIGH and VesselTree is HIGH then Method is Vessel 
if Vessel is HIGH and Bone is LOW and VesselTree is HIGH then Method is Vessel 
if Vessel is HIGH and Bone is MEDIUM and VesselTree is HIGH then Method is Vessel 
if Vessel is HIGH and Bone is HIGH and VesselTree is HIGH then Method is Vessel 
 

Rules for Oblique / Coronal / Sagittal / Axial Slice Views  
 

if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Axial 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Coronal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Coronal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Sagittal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Sagittal or Coronal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Coronal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Sagittal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Sagittal 
if VesselTree is LOW and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Sagittal or Coronal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Axial 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Axial or Coronal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Coronal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Axial or Sagittal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Axial 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Coronal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Sagittal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Sagittal 
if VesselTree is LOW and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Sagittal or Coronal 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Axial 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Axial 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Axial or Coronal 



if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Axial 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Axial 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Axial or Coronal 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Axial or Sagittal 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Axial or Sagittal 
if VesselTree is LOW and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Axial 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Oblique or Coronal 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Oblique or Sagittal 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Oblique or  Coronal 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Oblique or Sagittal 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Oblique or Sagittal 
if VesselTree is MEDIUM and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Oblique or Sagittal or Coronal 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Oblique or Coronal 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Oblique or Coronal 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Oblique or Sagittal 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Oblique or Sagittal 
if VesselTree is MEDIUM and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Oblique or Sagittal or Coronal 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Oblique or Axial or Coronal 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Oblique or Axial 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Oblique or Axial or Coronal 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Oblique or Axial or Sagittal 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Oblique or Axial or Sagittal 
if VesselTree is MEDIUM and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Oblique or Axial 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is LOW and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is MEDIUM and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is LOW and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is MEDIUM and CoronalSlice is HIGH then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is LOW then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is MEDIUM then Slice is Oblique 
if VesselTree is HIGH and AxialSlice is HIGH and SagittalSlice is HIGH and CoronalSlice is HIGH then Slice is Oblique 


